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By DEFEIBEL : F b fELA—J/LNe. 1 2 3 5 6 10 13 1516 17 18
B K 2| ouT | IN |TOTAL HDCP @ NET | f& = |
1 &5 7 F 7 39 42 81 12.0 69.0 | *
2 HHEBKEF 46 43 89 19.2 69.8 %
3 B B = B 41 41 82 12.0 700 | %
4 B B X X 46 44 90 19.2 708 | %
5 Il & #£ B 44 45 89 18.0 710 | %
6 F it F 0 41 39 80 8.4 716 | *
7 8 BB H & 40 39 79 7.2 718 | %
8 = B E B 45 46 91 19.2 718 | %
9 B Nl M X 39 38 77 4.8 722 | %
10 # B R B 37 38 75 2.4 726 | *
n & B & X 36 39 75 2.4 72.6

12 &8 R 1 #/ 45 45 90 16.8 73.2

13 |/ RO 43 40 83 9.6 73.4

14 | & BH 5 B 46 49 95 21.6 73.4

15 & BH B 42 46 88 14.4 736 | %
16 | & M 3 Al 43 39 82 8.4 73.6

17 F B B E 49 39 88 14.4 73.6

18 B &KX & 45 48 93 19.2 73.8

19 /N A B E 43 44 87 13.2 73.8

20 E H # 47 40 87 13.2 738 | %
21 B B B X 38 42 80 6.0 74.0

22 A X E B 44 42 86 12.0 74.0

23 KM EREZ 44 41 85 10.8 74.2

24 Il E A B 45 46 91 16.8 74.2

25 B #E X = 45 45 920 15.6 744 | %
26 = H E &% 42 42 84 9.6 74.4

27 A B X B 46 44 90 15.6 74.4

28 = B A Ot 48 47 95 20.4 74.6

29 ® B = 45 43 88 13.2 74.8

0 F B E = 40 42 82 7.2 748 | k&
31 (p1 W OE 44 38 82 7.2 74.8

32 [ B & BA 48 45 93 18.0 75.0

B = K OB 48 50 98 22.8 75.2

4 | INERST 47 45 92 16.8 75.2

B B K F A 45 46 91 15.6 754 | %
6 = B EF 48 42 90 14.4 75.6

37 [k AW X 42 42 84 8.4 75.6

3 B B A B 52 43 95 19.2 75.8

9 B B # 49 46 95 19.2 75.8

40  F F OB = 42 47 89 13.2 758 | *
EtEHRINLIE 9 1/2 R—2



BERIBEFIRQ r = R
B/NEEZI29—W BZ’ ffﬁ %Z SF14E8H 248 (K)

AR AT NAYTEE R —Cut) LFR:36

By DEFEIBEL : F b fELA—J/LNe. 1 2 3 5 6 9 10 13 1516 17 18
B K 2| ouT | IN |TOTAL HDCP @ NET | f& = |
41 B W 44 44 88 12.0 76.0

42 |t B BRI 1T 43 39 82 6.0 76.0

43 ¥ I B 45 47 92 15.6 76.4

44 [ BB IE E 50 48 98 21.6 76.4

45  HAEEF 48 49 97 20.4 76.6 | %
46 £ <7 K B 50 52 102 25.2 76.8

47 B H — = 50 52 102 25.2 76.8

48 % H H B 39 45 84 7.2 76.8

49 &£ B F 47 49 96 19.2 76.8

50 /R OE 42 47 89 12.0 770 | %
51 /N 8 B F 52 53 105 27.6 77.4

52 B H ¥ & 47 45 92 14.4 77.6

53 & JIl &t 47 44 91 13.2 77.8

5 B B = B 45 46 91 13.2 77.8

55 & M M 54 49 103 25.2 778 | *
56 @ H X B 38 41 79 1.2 77.8

57 & B o F 50 52 102 24.0 78.0

58 & H E M 44 45 89 10.8 78.2

59 & 1B F = 49 45 94 15.6 78.4

60 & H = 41 46 87 8.4 786 | *
61 & B E & 48 44 92 13.2 78.8

62 & B IE 51 49 100 20.4 79.6

63 | fE & = 56 49 105 25.2 79.8

64 | M + = 50 50 100 19.2 80.8  *
65 B R F I 54 51 105 24.0 81.0
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